10D EDIER

AH: Alcs:____ Aa7:
100D = 1004 =
—1x10* = 3% 1009 =
216.9 x 100 = 2 x 100D =
8 x 10" = 1004 =
3x10= 813.1x 10" =
5154+ 1000 = 1009 =
1071 = 1003 =
2162+ 1002 = 2% 102 =
727+ 1002 = 1009 =
100D = 7% 10% =
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BEI BlCb:._ AO7:
1077 = 0.1 10 = 0.0001

—1 % 10* = —100 3 x 107 = -0.0003
216.9 x 107 = 0.02169 2x 100V =02

8x10° =8 107 = 0.0001

3 %10 = 30 813.1 x 107 = 0.08131
5154+ 107 = 5154 107 = 0.0001

1077 = 0.1 107 = 0.001

216.2 + 10 = 21620 2 x 107 = 200

727 + 1052 = 72700 10 = 0.0001

1077 = 0.1 7 % 10% = 700
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